Math 33 - 2™ midterm — friday march 3, 2017

Firstname : [gvin

Lastn ! Tan
Student ID Number : 704826225 3 t‘{““{“ t q> tHth

Discussion session group: ge72  2F

Fill in your answers directly on this form. You may use both sides of the paper. Please make sure
you always clearly justify your answers and detail your calculus.

Total 6 questions with 3 +4 + 4+ 3 +3 +3 =20 pts.

Question 1. (3pt)
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Find a basis for W where W = span g 2 .
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Question 2. (4pt) ) 4 ] T3 "
Find scalars a, b, ¢,d, e, f, g such that the vectors il al)
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Question 3. (4pt)
Find an orthonormal basis 1}, U, U3 of R? such that
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Question 4. (3pt)
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Find the least-squares solution ¥* of the system AX = b, where 4 = [
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Question 5. (3pt)
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Find the determinant of the following matrix A =
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Question 6. (3pt)
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Use Gaussian elimination to find the determinant of the following matrixA:{l 1 3 3 3}.
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